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1 1 | 1 | 1
IfA-m+m+ﬁ+m+m+mupt020terms,then

what i§ the value of A
20 UGl I, PR ABTHF RT 7

(1) 379/308
(2) 171/140

3) 379/310
P W4) 420/341




25 DAYS - HARD CHALLENGE (SSC)
4 If the digits in the unit and the tens place of a two digit
number are interchanged, a new number is formed, which

is greater than the original number by 63. Suppose the
digit in the unit place of the original number the x Then, all

the possible values of x are

&l 3P| Pl Th BT b SHIS UM aUT & 3Pl Bl
WWW . . Pwa .
STl &, dl Tl ST, SIRfHS HEl | 63 %l,%@ﬁ%
RS B & ’e?
m'énrﬁﬂaiﬁx%,a‘rxmﬁmﬁanﬁwﬁgh%g

(c) 0, 1,

2 (d) 1,
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25 DAYS - HARD CHALLENGE (SSC) 1)
=9 If X = 8+ 2115, then what is the value of vx +— =

gfed x =8 + 215, a’r\/-+ 'FIF-IERIT%’?

L._.rr-..

(a) 2v5
) 2V3
) (3V5 + 3)/2

(d) (35 - v3)/2
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25 DAYS - HARD CHALLENGE (SSC)
A, B, C and D purchase a gift worth Rs. 60. A

pays 2 of what others are paying. B pays of 1/3
what others are paying and C pays s of what
others are paying. What is the amount paid by

A B, C dYT D A Rs. 60 ®! HIHAA BT

JUeIX
@ﬂ%\'mﬁlﬁAﬁwﬁaﬁaﬂ p"r
1/3 3R C 7 gER) B ¥, FIHT 34T BT 1%
ﬁ'ﬁ'ﬁ’_d:ﬂ' DI 31GT DI | (c)12
(d) 14




25 DAYS - HARD CHALLENGE (SSC)
A shopkeeper allows 23% commission on his

advertised price and still makes a profit of 10% .

If he gains Rs. 56 on one item, his advertised
price of the item, in Rs. is

TP GPGR fATaT T R 23%PHIRF A &

STSG 10%ETH HHTAT 31 Afe TG W T 56 WY
HHTAI §, Al a%g BT fagiia Jed 716 BY1 () 820
(b) 780
(c) 790
Pv(d) 800

A e I
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% The LCM of two numbers is 4 times their HCF. %

The sum of LCM and HCF is 125. If one of the
number is 100, then the other number is

3 STl &1 9. 9. 3T H° 0. BT 4 AT 8, ITP
@°H g H°Y BT 9NT 125 §, Ufc U S=AT 100 §,

GERI ST [T B2

s

a)d

%) 25
(c) 100
(d) 125
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If the height of cylinder is increased by 35% an 4
radius is increased by 10% then what will be the
percentage increase in curved surface area of

cylinder?

gﬁmaﬁ“’mﬁﬁw%aﬁ $1 STl 8

ﬁ1q%aﬁq®aﬁﬁ1ﬁ%§‘raﬁﬂ%w
&Awa H fpa ufawra 1 gfS aliflz )
6.5

) 45

9,
48.5

qie
T
UL
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25 DAYS - HARD CHALLENGE (SSC)
A fruit seller makes a profit of 20% by selling

mangoes at a certain price. If he charges Rs 1
more for each mango, he can make a profit of
40%. Find the selling price of a mango in the

first case.
s fAfda gea w3 3l &) 9w U wd fagar
Jidle

20% ATH HHIAT g1 afe a8 ¥ 1 3T
aa?n & I 39 40% aTH | uﬁﬁ R
CARCEDE R D (c) Rs.
5.50
(d) Rs.7

L._..-r--.
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=4 If 7sin?e+3cos?e = 4,(0° < 6 < 90°), then value of &<

is
gfe 7sin?e +3 cos?0 =4, (0° < 6 < 90°) dl 0 BT HME
Td B

(a) m/2
) /3
Pvee) /6

(d) /4
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25 DAYS - HARD CHALLENGE (SSC)
A D and E are points on side AB and AC of AAB

DE is parallel to BC. If AD:DB 2:5 and area of
A ADE is 8 sq cm, what is the ratio of area of
A ADE and area of quadrilateral BDEC?
A ABC B YeIT3if AB 3R AC R DAGﬁT Eﬁjc;%l
DE, BC & J¥iaX g1 af¢ AD : DB =
A ADE &7 83%d 8 i S &, A A asmm
TqUS BDEC & &% d T U
(b) (45
)

(c) (8:
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¥ What can be the maximum number of common %

tangent which can be drawn to two non-

mtersectmg cu:?clﬁ%? -

tqﬁ%ﬁ T bl
) 2
%)
4
(c)3
()
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A e I

| The average height of 30 boys out of a class o <

50 is 160 cm. If the average height of the
remaining boys is 165 cm, the average height of
the whole class (in cm) is:

50 TSPI I U P& H 30 ASHI B A TS
160 GHI. 31 gfe AT FdSHI B NAd 165
Q. 7, df T wan Y oitwa ears (. H) gt
ghit? ) 162
(c) 163
(d) 164
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" If by increasing the price of a ticket in the ratio<

2 8:11 the number of tickets sold fall in the ratio
23:21 then what is the increase (in Rs) in
revenue if revenue before increase in price of

ticket was Rs 36,8007
gfe 8:11 & 3UTd H fewe & ou ¥ gfs o1 it

¢ dI 39 T fewel ot

%23:21@@W6M?Wﬁ
(¥ H) AT T,

R fewe mﬁq@ﬁuﬁwaﬁmﬁ

YT? (c)
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7 Solution A contains 10% acid and solution B

3 contains 30% acid. In
what ratio should solution A be mixed with

Solution B to obtain
a mixture with 25% acid?

firsror A ® 10% uftrs 3 aut fayor B # 30% Tthrs
8| forsror A o1 firgor B & w1y fovw i 12
Y.

foremar sie fo5 fsgor ° 25% s
(€)1:3

(d) 2:

A e I
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% Two men can do a piece of work in x days. But y=*
4 women can do that in 3 days. Then the ratio of
the work done by 1 man and 1 woman is
&l 9oy et & ot x famt # T aed §, ATy
Hfgae 3t v &l 3 i A R o=l €, of 1

mam1w[%m$m$raﬁqm§j§|
) 3y:

2x (b)

2X : 3y
(c) x:y
(d) 2y:
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= Which of the following points lies on the line 5

+ 4y =27

el

iy

Fafifad # A 9 AT 3 5x + 4y = 2 PIE@I R

a2

(c) (-
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A solid cylinder has the total smll-l acl\e/I aEr<¥1V QB <

sg. cm. If its curved surface area is 2/3 of the
surface area ,then the volumeume of the
cylinder is

wmw%wmmm 9. g1
&1 2?3“§Ia?$ CIOE] mﬁ%mﬂﬂ&%i S

%)%508 cu.cm 308 Y-

(c) 269.5 cu.cm/ 269.5







